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QUESTION 1

Which two statements are true about User Management Services (UMS)?

A. Provides an authentication scheme that is based on the open standards OpenlD Connect and OAuth 2.0
B. Provides an authentication scheme that is based on SAML

C. Provides a common registry for components to store information

D. Provides a common login page for some of the IBM Cloud Pak for Automation components

E. Provides a common login page for all of the IBM Cloud Pak for Automation components

Correct Answer: BE

QUESTION 2

In OCP, what is a monitoring component that is configurable?
A. Grafana

B. Kafka

C. Elasticsearch

D. Fluentd

Correct Answer: A

https://docs.openshift.com/container-platform/4.1/monitoring/cluster_monitoring/configuring-the-monitoring-stack.html

QUESTION 3

In the following script, used during installation, what does my_secret_name represent?
Jscripts/deployoperator.sh -i /icp4a-operator: 19.0.3 -p \W'my_secret_name\\' -a accept.
A. Itis the name of a secret definition, which is used to access the registry.

B. It is where the new secret phrase is entered.

C. Itis the login password for the OpenShift cluster.

D. Itis the registry password in clear text, which is used to access the registry

Correct Answer: A
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QUESTION 4

Which is the correct configuration in the dc_ums-datasource section for two failover DB servers of the User
Management Service?

A. Option A

B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 5

Which of the following is a good practice to ensure that less data is lost after a crash?
A. Backup all of the available data from the original disk.

B. Keep the backup device connected and active at all times.

C. Use the same disk as the original hardware to backup the data.

D. Keep the time interval between backups to a short time.

Correct Answer: C
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